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Question 21-

(i) x2 + 3√3x - 84 = 0

(ii) y2 + 9√3x + 60 = 0

(i) x > y

(ii) x < y

(iii) x  ≥ y

(iv) x ≤ y 

(v) x = y or relation can’t 
be established,
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Question 22-

(i) 484
1

2 x2 - 96 = 256

(ii) 144
1

2 y2 + 343 = 391

(i) x > y

(ii) x < y

(iii) x  ≥ y

(iv) x ≤ y 

(v) x = y or relation can’t 
be established,



Question 23- The product of two consecutive positive 

integer is 306. Find the smaller number.

प्रश्न 23- दो क्रमागत धनात्मक परू्ाांकों का गरु्नफल 306 ह।ै

छोटी संख्या ज्ञात कीजिये
A. 17

B. 18

C. 21

D. 8

E. None of these



Question 1-

(i) 10p2 + 11p + 3 = 0

(ii) q2 + 30q + 224 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 2-

(i) 10p2 – 17p - 20 = 0

(ii) q2 + 22q + 40 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 3-

(i) 15p2 – 19p - 10 = 0

(ii) q2 - 39q + 368 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 4-

(i) p2 + 9p + 20 = 0

(ii) q2 + q - 240 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 5-

(i) 10p2 – 21p - 10 = 0

(ii) q2 + 28q - 147 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 6-

(i) 15p2 – 13p + 2 = 0

(ii) q2 - 49 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 7-

(i) p2 – 25p + 114 = 0

(ii) q2 - 23q + 105 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 8-

(i) p2 + p - 56 = 0

(ii) q2 + 20q + 51 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 9-

(i) p2 + 21p + 104 = 0

(ii) q2 + 28q + 96 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 10-

(i) p2 + 8p - 105 = 0

(ii) q2 + 19q + 84 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,

https://t.me/mathbytarunsirmepl



Question 11-

(i) 4p3 + 24p2 – 64p = 0

(ii) 3q2 + 39q + 126 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 12-

(i) p2 - 3√3p – 54 = 0

(ii) q2 - 7√2 q - 36 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 13-

(i) 4p2 – (16+ √10)p – 4√10 = 0

(ii) 4q2 – (8 + 5√7) q - 10√7 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 14-

(i) 3x + 4y = 18

(ii) 4x + 3y = 17

(i) x > y

(ii) x < y

(iii) x  ≥ y

(iv) x ≤ y 

(v) x = y or relation can’t 
be established,



Question 15- p2 + 5p -24 = 0

q2 + 13q +40 = 0

(i) x > y

(ii) x < y

(iii) x  ≥ y

(iv) x ≤ y 

(v) x = y or relation can’t 
be established,
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